ErHE ;; 67. EAISTH 68. EAVSTLEH (69, BAR—LH
| ANV SR JBSL |Awomurinsisry | BAL |G FRR
=T 1 149 31 51.0 1 25
EFmH 13 23 14 152.8 22 1
7= 4 35 13 153.4 5 5
mEf 11 28 29 61.3 2 7
TES 23 10 32 48.0 15 2
JAlgTH 20 12 34 448 15 2
BET™H 7 30 16 130.9 7 4
TiEFKT 2 44 6 2233 7 4
mA+THh 12 27 28 70.4 2 7
&Emmh 9 29 27 73.7 4 6
1l 4 35 22 95.0 5 5
BERT 30 2 30 57.4 - -
=T AT 25 7 20 107.8 22 1
H EFET 25 7 11 176.3 - -
% HET 25 7 24 90.2 - -
PlAIIE s 29 5 5 223.9 - -
B 33 1 25 78.2 - -
=rF 30 2 33 46.6 22 1
ALLET 24 9 10 180.2 11 3
REMT 21 11 15 136.3 - -
T TErT 21 11 3 275.1 22 1
KINF+ 30 2 8 200.0 - -
LT 3 37 17 127.0 11 3
=€) /T 19 13 12 173.4 15 2
bt {ZHT 17 16 19 123.1 7 4
£ )| BT 13 23 21 95.4 15 2
Fagsiliing 25 7 26 75.2 15 2
EIRET 18 14 9 1825 15 2
HE# 16 19 2 282.3 11 3
FEETET 15 20 4 225.3 11 3
/a5 + BT 9 29 23 94.3 7 4
XA 7 30 1 417.7 22 1
=FEH 33 1 18 1250 22 1
2T 6 34 7 221.9 15 2
= 5E 729 91.0 103
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=g EEREREURER |eesseumas. artranin |[{ERELTHROME
HFT EEEE R BESEHERIUE. 54 | REERFEERR
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B[70. EREZHERE [71. ERESHERE S [ g

& | IBRL [AABFALEY) | BR [A JERL [F (AOFAZF-Y)
EEIGi 3 168 1 55564| 30 15
EFmH 6 161 12 2,160 9 45
7= 2 173 10 3,012 17 32
mEf 8 160 2 7,593 29 17
TiEm™ 5 162 5 4387 31 12
AT 10 157 7 3,465 15 35
BET™H 11 153 9 3,152 26 23
TiEFKT 17 145 13 1,984 22 27
mA+THh 13 149 4 5078 34 7
&Emmh 7 161 3 5,365 20 29
1l 12 150 6 3,936 32 11
BEHT 4 167 26 409 10 44
=T AT 14 149 23 482 3 79
H EFET 18 144 28 380 16 32
% HET 9 158 25 426 7 53
e+t 27 122 32 158 8 52
B 29 104 33 93 2 94
=rF 1 195 18 739 14 35
A LLET 26 123 24 432 4 68
RERT 33 93] 30 342 21 29
T TErT 30 104 27 406 6 56
yNIIESH 34 78] 34 32 1 199
LT 19 139 8 3206 33 9
=€) /T 32 95 22 509 11 39
bt {ZHT 23 130 16 895 24 25
& )11 BT 22 132 14 1,708 25 24
50 BT 25 124 19 698 12 39
EIRET 31 97 29 343 5 58
BHE# 20 132 20 669| 23 26
FEETET 28 112 21 653 27 18
/a5 + BT 21 132 11 2,279 19 30
XA 15 148 17 750 28 18
=FEH 24 127 31 194 18 31
vy 16 147 15 1,659 13 36
= 5E 158 113,158 20
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